Extra Review Problems for Unit 1 Test

1. Ifafigure is reflected in the x-axis and then it is reflected in the line 1

Y = x, it would be the same as which of the following counterclockwise
transformations?
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A reflection over the y-axis —f- ——
rotation of 90° Bams
C rotation of 180° ' 13 |
D rotation of 270° HE {
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2. If a figure is reflected in the y-axis and then rotated 180°, it would be
€ same as which of the following transformations?
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Unit 1 Review Kafe: i) Block:

Multiple Choice: Select the correct answer. Write your answer on the line provided.

1) Which of the following is the correct drawing when reflecting 4BCD i
the x-axis? $ $ X 1) —A—
A YA B YA
D D c
[ O X
¢ YA B] D YTA
[2) 2 cl’ [e) e Qx
2) Matthew is trying to visualize what y 2) _D__
different transformations look like. One VisN
of his drawings was transforming PENTA B il
into P’E'N'T’4’. Which transformation
e A AT
is this? i : i . -
A reflection in the x-axis
- B rotation of 90° NS T/ ;
C reflection in the y-axis N4

D rot;
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y Which of the following words remain unchanged when reflected in a
horizontal line?

A WOW
: B ICEBOX
_f C BRIDE
| D TOOT

Use the figure for questions 6-8.

6) Write the coordinates of the image of each

point by reflection in the x-axis.

o>

A A4'(0,0), R'(—1,4), T'(—4,2)

B A4'(0,0), R'(4, 1), T'(2, 4)

C 40, 1), R'(—4, 1), T'(—4, —2)

D A'(O, 0)‘ R'(l‘ _4)v T'(4’ _2)

7) Write the coordinates of the image of each point by reflection in the
y=axis.
A A4'0,0), R(—1,4), T'(—4,2) B 40,0),R'4, 1), T'(2,4)
C 40, 1), R(=4,1), T'(—4,-2) D A'(0,0), R'(1, —4), T'(4, —2)
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9) A(0,0), B(3, 4), C(5, 1), and D(—1, =3) are points on a graph. Apply the 9) _A—
transformation (x, y) = (x + 1, y + 2).
Find the images of points 4, B, C, and D.
A A'(1,2), B'(4,6), C'(6,3),D(0, —1)
BEATL2)'B(3, 6), C6, 2), D'(3, ~1)
G AR, B(2::6), C(8, 3), DI(=1, =1)
D 40, 0), B'4, 3), C'(1, 5), D'(—=3, —1)

10) Selena was trying to put together a puzzle of geometric shapes on a 10) D_
coordinate grid. One of her pieces was a right triangle. She placed it on
the grid so the 3 corners had the coordinates R(—2, 0), U(0, 0) and
N(=2, —6). She then rotated her triangle 90° counterclockwise about the
origin. What are the new coordinates R’, U’, and N'?
A R'(0,2), U0, 6), N'(6, —2)
B R'(2,0), U'(0,0), N'(2, 6)
C R'0,2), U0, 0), N'(—6, 2)
DERYD ), T/(0;:0), N'(6, —2)
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ree Response: Answer the following questions.

13) Given A (1, 2), B (1, 4), and C (3, 4), find the image of A4BC under a counterclockwise rotation of 90
degrees about the origin. Graph the pre-image and image. Label your pre-image and image points on the
graph. Write the coordinates of your image points on the lines provided.
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14) Using the figure provided, write a translation rule for each of the following:

4 Figure 1 to 2: (XE%\, oA (Y*Uf!‘j’rZ

| Figure 4 to 3: (X,(j)q ()(‘353'3)

S
a3

1), and C (5, 6). Apply a translation with the
ites for triangle A'B'C'. Then reflect triangle
dl‘ A”B"C".
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r the same translation rule? Use the graph provided if needed.

e

/ what is the name of the shape on the right?
bclogen
_ How many diagonals are there on the shape to the
right? .
20 “_&ﬂa—’\
18, How many lines of symmetry are there on the shape
to the right? g‘

19, List all of the degrees of rotational symmetry for the shape to the right.
%0

g =4S

45,90, \35, 180,225, and, 31S,3Lo

20. Draw and label the lines 1}' symmetry and the diagonag‘ on the rectangle

imetry and the diagonals on the rhombus.
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f which of the following equations i
Quations is perpendicular to the equationy = —2x + 4

2
A) y=-3x+7
4 (B) y=->x+4

3
y=3x-2
@ ¢ (D) y=3x+4

26. a.Find the slope of a line through the points (-10, 4) and (4, -3).
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b. What is the slope of a line parallel to the one inpart a.  — \

Z
c. What is the slope of a line perpendicular to the one in part a. 9*

d. What would be the equation of the line perpendicular to the one in part a that goes through

the point (0, -5)? \ﬁsgny

| to the line in part a that goes through the
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